FM'cu EAYUAN METAL INDUSTRIAL CO., LTD.

EXFR

= | B IkR

A3W-FE / AAW-FE /| A3W-SE

FOUNDRY - VALVE MANUFACTURER

g

- LEBEBFNHERRHS ORI o

« A[{ERAMRHITRRN ISO EEEE -

- RPTFEE IR T HERFLMNEE -

« ARRIRIEHR S o EHMRIEUFREIAITRRAA ©
- fERIBERA BT -

- BrigEAD o

- AJ{EFREHEEE -

cPHEFERE - PIEEKIEMR -

« 1895 1ISO 9001 FREEMEEREREE -

« CE &R 4 PED 2014/68/EU, AIFEE K 21H o
o ZTBEREEM B ] HEEE o

BR T RERVIREME - IRERL T E A HEE -
BEMREESEIAN R FIZAOMRE - BANTSER -

- PTFE + 15% Glass Fiber

- PTFE + 25% Carbon Fiber

- Modified PTFE

- Modified PTFE + 25% Carbon Fiber
- PTFE + 50% SS

- PEEK

‘2% REE

R EREINT % ~ KEFKRRIE « (L TR « ZRARERMEE  RETL
E - —HmEE -

Mining & Mineral Processing, Water & Waste Water, Chemical Plant,
Steam & High Temperature Fluid, Automotive Industry, General Fluid.

aXaT B16.34, EN-12516-1
Design

RF 1/4" ~ 8" (DN8 ~ DN200)
Size

B HER

. 1000 WOG, Class 150, Class 300, PN16
Pressure Rating

0O ~ Effum ~ ¥I50R AR
Threaded End, Socket Weld End,
Butt Weld End, Flanged End

71|
End Connections

] :E|
E”".’fﬁ"‘J AP 598, EN12266-1
Testing
e HinE s ERE
Bore Reduced Bore, Full Bore
s
Certificate ATEX

 Superior valve design at a competitive price.
* ISO actuator mounting pad.
* RPTFE seal relieves concern over product contamination.
* Lower operating torque for ease of operation and reduced actuator cost.
* Positive position indication.
* Blowout-proof shaft.
* Locking device is available.
* Anti-static device, on request.
» Manufactured under ISO 9001 certified quality system.
» CE marking according to PED 2014/68/EU. Available on request.
* Various seat material are available.
In addition to standard seat material, following variety is available.
Each material option will meet a wide range of performance,
suitable for many applications.
- PTFE + 15% Glass Fiber
- PTFE + 25% Carbon Fiber
- Modified PTFE
- Modified PTFE + 25% Carbon Fiber
- PTFE + 50% SS
- PEEK
* Please refer to the Pressure-Temperature rating.

BUFR Fig. No. : ABW-FE / AAW-FE (1/2"~2")

ITEM
1

© 0o N o o~ W N

N N N & a4 a4 a4 a4 a a4 o oA
N = O © 0 N O o0 A W N =~ O

23

PART NAME
Flange End
Gasket
Body
Ball
Seat
Stem
Thrust Washer
O-ring
Stem Packing
Gland
Belleville Washer
Stem Nut
Nut Stop
Space Washer
Plater
Handle Nut
Handle
Cover
Stop Pin
Stop Pin Nut
Flange End Bolts
Pin

Anti-Static Device

STAINLESS STEEL CARBON STEEL

CF8M
PTFE
CF8M
CF8M
PTFE
SS 316
RPTFE
Viton
Graphite
SS 304
SS301
SS 304
SS 304
SS 304
SS 304
SS 304
SS 304
Plastisol
SS 304
SS 304
B8
SS 316
SS 316

WCB
PTFE
WCB
CF8M
PTFE
SS 316
RPTFE
Viton
Graphite
SS 304
SS301
SS 304
SS 301
SS 304
SS 304
SS 304
SS 304
Plastisol
SS 304
SS 304
B8
SS 316
SS 316

* WHERBEREEMERRE  LEREGEERNER °
We reserve the right to modify the design / specification without previous

noticefor better quality.

www.emico.com.tw 146



FM'CU FOUNDRY - VALVE MANUFACTURER
EAYUAN METAL INDUSTRIAL CO., LTD.
i = | W@k ERNE
* Eﬁ R A3W-FE /| AAW-FE | A3BW-SE !
BU5% Fig. No. : ABW-FE / AAW-FE (2-1/2"~4") ITEM  PARTNAME STAINLESS STEEL CARBON STEEL BU5% Fig. No. : ABW-FE / A4W-FE (1/2"~2")
16 17 1 Flanged End CF8M WCB
2 Body CF8M WCB
3 Ball & Stem CF8M CFaM
4 Housing PTFE+Stainless PTFE+Stainless I__{_‘-_-_-_-_-_-_-_-_-_-_-_-_-_a_+_.=
5 Seats PTFE/RPTFE PTFE/RPTFE o A [
6 Gasket PTFE PTFE " -
7 O-ring Viton Viton < - ) — ! o 8 E
8 Stem Packing PTFE PTFE o _zy" T Tolg®
9 Gland Washer SS 304 SS 304 w N |
10  Belleville Washer SS 301 SS 301 o & 3 O |
1 Gland SS 304 SS 304 ’ | | | § -@m-n
11 12 14 15 12 Handle Head CF8 CF8 ! . P
10 13 Stop Pin SS 304 SS 304
9 N i 14 Bolt SS 304 SS 304
;3 <1 ' 20 15 Lever Carbon Steel Carbon Steel SIZE A B c d1 d2 E F G H Port OB T RRENTE L IO TR
v}'/'/""/;f 7 U2 Blank end £hsi WCB 12" 42 1 130 60 60 105 36 42 9 15 152 160 160 160 152 160
21 =’§§/ﬂ 17 Bonnet bolts SS 304 SS 304 3/4" 485 14 165 6.0 7.1 114 42 50 11 20 167 177 177 177 167 177
L o "
22 - ,,”g,!;;,g, N 18 Endlcap bolts SS 304 SS 304 1 55.5 14 165 6.0 7.1 121 42 50 11 25 190 200 190 190 190 190
1-1/4" 63 17 205 71 9.2 118 50 70 14 32 208 208 208 208 208 208
I WA 7 10 Bolt Nuts SS 304 SS 304 112" 735 16 205 74 92 128 50 70 14 38 220 234 234 234 220 234
20 Stop Pin Nut SS 304 SS 304 2" 92.5 21 325 9.2 1.4 143 70 102 17 50 253 273 273 273 253 273
A= a4 21 Bonnet CF8M WCB
BN é 22 Bonnet Gasket PTFE PTFE Class 150/300 (1/2"~2")
Class 150 Class 300
Sies D1 D2 g t f ) n | DI D2 g t f .m _n |
6 S 4321 172" 89 60.5 35 1.2 1.6 16 4 95 66.5 35 14.5 1.6 16 4
3/4" 98 70 43 1.2 1.6 16 4 17 82.5 43 16 1.6 19 4
Ruge Fig. No. : A3W-SE ] BT TR 1" " 108 79.5 51 1.2 1.6 16 4 124 89 51 17.5 1.6 19 4
14 15 1-1/ 17 89 64 12.7 1.6 16 4 134 98.5 64 19.5 1.6 19 4
1 Body CF8M 1-1/2" 127 985 73 14.3 16 16 4 156 114.5 73 21 16 22 4
2-A Cap CF8M % 152 1205 92 15.8 1.6 16 4 165 127 92 22.5 1.6 19 8
2-B Ca CF8M
P PN16/40 (1/2"~2")
3 Ball CF8M =
PN . PN ]
‘ Ball Seats PTFE Sies D1 D2 g t f m n | DI D2 g t f .m _n |
5 Stem SS 316 1/2" 95 65 45 14 2.0 14 4 95 65 45 16 2.0 14 4
13 6 Thrust Washer PTFE 3/4" 105 75 58 16 2.0 14 4 105 75 58 18 2.0 14 4
12 — Endlaans —— 1" 15 85 68 16 2.0 14 4 115 85 68 18 2.0 14 4
11 1-1/4" 140 100 78 16 2.0 18 4 140 100 78 18 2.0 18 4
11 7B End Seals PTFE 1-1/2" 150 110 88 16 3.0 18 4 150 110 88 18 3.0 18 4
11 /| J 8 Stem Packing PTFE 2" 165 125 102 18 3.0 18 4 165 125 102 20 3.0 18 4
9 Gland SS 304
10 JIS 10K/20K (1/2"~2")
10 Handle SS 304
9 16 JIS 10K JIS 20K
8 " Wahser 59 304 s D1 D2 g t f m n | bt D2 g t f m n |
6 — S 12 Wahser SS 304 1/2" 95 70 51 14 1.0 15 4 95 70 51 14 1.0 15 4
5 — | / J 13 Handle Bolt SS 304 3/4" 100 75 56 16 1.0 15 4 100 75 56 16 1.0 15 4
1 \ - 14 Stopper SS 304 1" 125 90 67 14 1.0 19 4 125 90 67 16 1.0 19 4
1-1/4" 135 100 76 18 2.0 19 4 135 100 76 18 2.0 19 4
i \:é kortd 15 Screw SS 304 1-1/2" 140 105 81 16 2.0 19 4 140 105 81 18 2.0 19 4
| |\ 16 Handle Sleeve VINYLGrip 2" 155 120 9 18 2.0 19 4 155 120 86 18 2.0 19 8
2-B 1 3 47-B . et . - X S e o o o
* BOTEREFEEM IR R UERESTERNER - * BOTERIEREEM IR © LERERHERNER -
We reserve the right to modify the design / specification without previous We reserve the right to modify the design / specification without previous notice for better quality.
noticefor better quality. .
147 www.emico.com.tw 148




FM'cu EAYUAN METAL INDUSTRIAL CO., LTD.

B3 = | i@k

FOUNDRY - VALVE MANUFACTURER

o A
A3W-FE / AAW-FE /| A3W-SE Emria

EU5R Fig. No. : ASW-FE /| AAW-FE (2-1/2"~4")

C
3102
g11-4
== <>f1, — LDl
11 | Ll N -
<€
&) ‘ | — | <
S | T |7 NN A N .
- K —|
& 1
ol ol ol |
S ! ! SSESIE N - ——
| Z Z
L | ] = =z
' i Zm-n.
't L
SIZE A A1 Cc D =
#150 #300 PN16 PN40 10K 20K
2-1/2" 144 200 500 62 300 300 300 300 300 300
3" 162 218 600 76 305 330.4 305 330.4 305 330.4
4" 182 238 750 96 368.5 393.8 368.4 393.8 368.5 393.8
Class 150/300 (2-1/2"~4")
Class 150 Class 300
SIZE
a o 9t __m __n | a o st __m |
2-1/2" 178 139.5 105 1.6 17.8 19 4 190 149 105 1.6 25.5 22 8
& 190 152.5 127 1.6 19.2 19 4 210 168 127 1.6 29 22 8
4" 229 190.5 157 1.6 24 19 8 254 200 157 1.6 32 22 8
PN16/40 (2-1/2"~4")
SIzE PN16 . PN ]
d o 9t __m _n | d o g f __t _m___n_|
2-1/2" 185 145 122 3.0 18.0 18 4 185 145 122 3.0 22 18 8
3" 200 160 138 3.0 20.0 18 8 200 160 138 3.0 24 18 8
4" 220 180 158 3.0 20.0 18 8 235 190 162 3.0 24 22 8
JIS 10K/20K (2-1/2"~4")
SIZE JIS 10K JIS 20K
d c g f t ] n d [ g f t ] n
2-1/2" 175 140 116 2.0 18 19 4 175 140 116 2.0 20 19 8
3" 185 150 126 2.0 18 19 8 200 160 132 2.0 22 23 8
4" 210 175 151 2.0 18 19 8 225 185 160 2.0 24 23 8

* WHERBEREEMERRRE  LEREREBERNER -
We reserve the right to modify the design / specification without previous notice for better quality.

149

%= Fig. No. : A3W-SE

PCD-E

N*M

T it
. @ o1 — >> B } -
2

-
|
ad

+

TN

2

1 <C
m
A1
L

SIZE d L H D F A B C N M E G
1/4" 1" 69.3 60 131 34.7 10.35 5.35 9 4 M5%0.8 42 12
3/8" 1" 69.3 60 131 34.7 10.35 5.35 9 4 M5%0.8 42 12
12" 12.5 75.7 63 131 38.3 10.35 5.35 9 4 M5%0.8 42 12
3/4" 16 86.6 82 184 44.7 13.85 6.85 1 4 M6*1.0 50 15

1" 20 103 87 184 50.8 20 8.5 1" 4 M6*1.0 50 15
1-1/4" 25 118.2 93 184 57.7 19.35 7.85 1 4 M6*1.0 50 15
1-1/2" 32 125.8 103 204 62.6 25.75 10.25 1 4 M8*1.25 70 15

2" 38 149 110 227 74.3 25.25 9.75 14 4 M8*1.25 70 18.5

* WHERBREEMER/RE  UEREREERNER -
We reserve the right to modify the design / specification without previous notice for better quality.

www.emico.com.tw 150



FM'cu FOUNDRY - VALVE MANUFACTURER
EAYUAN METAL INDUSTRIAL CO., LTD.

Y = N5 [= AN
2y = | TER A3W-FE / A4W-FE / A3W-SE BT

BUFR Fig. No. : ABW-SE

PRESSURE TEMPERATURE PATINGS

1000

800

600

400

200

PRESSURE (Psi)

20 0 100 200 300 400 500
(-29) (-18) (38) (93) (149) (204)  (260°C)

TEMPERATURE °F(°C)

UEE Fig. No. : A3W-FE, AAW-FE

PRESSURE / TEMPERATURE PRESSURE / TEMPERATURE
= 1200 = 1200
2 1000 & 1000
w 800 w 800 N
L 600 % 600 \
@ 400 @ 400 <
w Ll
@ 200 % @ 200
o 0 o 0 \
20 0 100 200 300 400 500 20 0 100 200 300 400 500
TEMPERATURE (y) TEMPERATURE (y)

=== PTRE === RPTFE (PTFE+15% Glass) === TFM (TFM1600)

151 www.emico.com.tw 152




